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o| o[ 0] 0.00[ 000 0.0  0.00 0
1| 22| 30] 220] 110] 44.00] 44.00 48.4
2| 32[ 40| 1.00] 0.50] 5867 102.67| 51.33333
3| 45| 50| 1.30] 0.65] 73.33] 132.00 85.8
4| 59 60| 140[ 0.70] 88.00] 161.33] 112.9333
5| 7.8 70 1.90] 0.95] 102.67] 190.67| 181.1333
6 | 10.2| 80| 2.40] 1.20] 117.33] 220.00 264
7 [12.7] 90| 2.50] 1.25] 132.00] 249.33| 311.6667
s | 16| 100] 3.30| 1.65| 146.67| 278.67|  459.8
o | 20.6] 110| 4.60] 2.30] 161.33] 308.00]  708.4
10| 26.2] 120 5.60] 2.80] 176.00] 337.33] 944.5333
11| 37.1] 130/ 10.90| 5.45] 190.67| 366.67] 1998.333

= %% (., 7;.) = 5166.333

- ,‘?_-.QE(QH,L-Q) s 122 (584771 ¢¢) +

F‘?G

;’\30

2 (102.674+38)+ 322 (117.33+102.67) +

23‘0

(132+117.23)

(73.33+58,67)+122 (35 + 73.33)

*%ﬁ(w {7+ 132) *-ﬁfﬁ(fr/.sf+f¥ffa’?)**%‘i“’i(”'“”’f’- $3)

+M(M0,o"f’+!7ﬂl’

S/44,333 4t

= 514, 33375"/*:2”# 0970472157 mlen




